7- Pinte a resposta correta:

. |
a) 32= 6x4 | /M 8x5 7x3 9x3
b) 45= | x5 | 8xs 7x5 6x5 8x6
c) 64 = 8x7 | 6x7 9x6 “$<e 9x9
d | 49= | 6x7 8x3 7x8 oxs | Sy
e) 72= ST 9x8 7x9 8x7 | 9x89
) 16 = 7x3 3x6 AXE 6x4 !‘_8_52_5‘_ |
a) 54 = 7x9 oxE TXT gx8 5x11
h) /= | 6x7 5x6 8x4 | “pxb | 4x4
i) 40 = Bxg 7x5 6x5 g9x5 | 5x7
) 81= | 8x8 | 8 | 8x9 6x8 | 9x7
|
K | 28= | s8x4 4x9 | D<d | 3x7 | 3x8
— ! |
) 21= X | 7x4 | 8x3 9x2 4x8 |
m) 24 = 4x7 | 5x5 3x9 B 8x4 |
i = {
) | 1a= | 8x2 | 2% | 6x3 9x2 5x3 |
o) 63= 8x8 | 9xs 7x8 ox8 | 2§ |
QUANTO FALTA?
1. Quanto faita para complietar 100?
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